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1 o Su-dl . <l di. 31-3-2017< A=l uLsl AU 290+ 20

wedl A oo 8 :

yLsl-q4Al

CCICTARI BRI 31-3-17| 31-3-16 | Basdl 31-3-17 | 31-3-16
Slsadl 92 yd sl Mesdl
€35 3.10+1 9 1,50,000 | 1,00,000 | (2i={)) 2,23,000 | 1,30,000
ALY VM 20,000 | 60,000 | As1L0 12,000 | 15,000
S-Sl vl 12,000 [ 10,000 | €is 15,000 | 10,000
10%-=11 R61-43] 50,000 — | 4R¥yREL BAlEIR) 35,000 | 55,000
UYRBL ARIEIR) 51,000 | 45,000 | As3 247 65 [Has 9,000 | 12,000
ERERIR (S EICTE 17,000 | 15,000 | mefis walxi 6,000 8,000
3,00,000 |2,30,000 3,00,000 | 2,30,000
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qul-l wledl :

(1) dl. 1-4-2016+0 A% AHIA 2AHd Ydlsa 53 8 A2l s
A AUl olAY AR BUNAHL VAL Sdll.

2)  ad s34 3. 9,000+ a2l RAd3 Yysadl Hi 2 sd.
(3) ad % 3. 14,000 a5 AR YsAAHL A &dl.

@) 3. 5,000+ w3dr BHdxl As@0 3. 1,000+ sl AAAHL Ll
Sl Vil Al Asl-sAIL vild AL S Bl &l

B)  suHl Masd uR 3. 5,000 suil Botars sl 2udl edl.

GuAsd MUl ul Al el eigasll uilla 2 Guylle
wAs axy sidella Hd Ul 38R salad uas dui s

Yql

1 e S add (JIT) ARl e, diedl i qaleil »3l. 20

2 AR ML dl. 31-12-2015 i1 31-12-2016+1 ULsL 4341 20

{lad yowo ©
uisl AJAL

CRET 31-12-15 | 31-12-16 | esdl 31-12-15 |31-12-16
AR Y4l 1,00,000 | 1,00,000 | Rar PMasdl 80,000 | 60,000
Sl sl v 12,000 15,000 | 22l 48,000 | 42,000
AU AU 50,000 | 52,000 | UsIL0 10,000 | 12,000
ARLEIRL 35,800 | 25,800 | gqlslR 42,000 | 91,000
A Aaas 18,000 5,000 | As3 / &8 35,800 | 42,800
H1ole el —| 50,000

2,15,800 | 2,47,800 2,15,800 |2,47,800
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3 <Al wlsdl w2l 80% iuA A5 2 90% AU A5+l GuARL 15
sA0 1 (31s) A 8 (218) Ul visHels AU ielwd Uidr«dl

oIzl 4 :
(1)
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3)
4)

ugy Aol Gauled W12 %33 salsl 400.

Yal gls Uik HaAMHAl uidx 3. 2,100.
ulg HRl Uidr €2 salsl 3. 7 (sas €ls e 3.7)
ldd uid 3. 5

4 AMBrs uid v Ao [due ved g 7 AMUAS Yidr wA st 15
[@ueil ulBul duomdl.

wYqdl
4 gsld avll : (A va Q) 15
(1) A4 el 2LAv] 2 Rl Hiesdl Al 9] dsldd
2) P — udu.
(3) [uly qa [usdum
ENGLISH VERSION
1 The following are the Balance Sheets of Raja Ram 20
Company Ltd. as on 318t March 2017.
Balance Sheets
Liablities 31-3-17 | 31-3-16 | Assets 31-3-17 | 31-3-16
Equity share Fixed Assets
capital Rs. 10 per (Net) 2,23,00011,30,000
share 1,50,000 | 1,00,000 | Investments 12,000 15,000
(General Reserve 20,000 [ 60,000 | Stock 15,000 10,000
Profit & Loss Alc 12,000 | 10,000 | Sundry Debtors 35,000 [ 55,000
10% Debentures 50,000 —| Cash and Bank
Sundry creditors 51,000 45,000 | Balance 9,000 12,000
Provision taxation 17,000 15,000 | Preliminary
expenses 6,000 8,000
3,00,000 (2,30,000 3,00,000 (2,30,000
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Additional Information :

(1)

@)
®3)
(4)

(5)

1 Discuss meaning, benefits and limitations of Just In Time 20

On 1-4-2016 bonus shares at one share for every two

shares were issued by capitalising general reserve.
Interim dividend of Rs. 9,000 was paid during the year.
Income tax of Rs. 14,000 was paid during the year.

Investments costing Rs. 5,000 were sold at a profit
Rs. 1,000 and the profit was credited to profit and loss

account.
Depreciation of Rs. 5,000 was provided on fixed assets.

From the above information prepare a statement of
source and application of funds and a statement

showing change in working capital.

OR

(JIT) approach.

2  The following are the summarised Balance Sheets of
Sagar Ltd. as on 315 December 2015 and 2016.

Balance Sheets

Liabilities 31-12-15 | 31-12-16 | Assets 31-12-15 | 31-12-16
Share capital 1,00,000 | 1,00,000 | Fixes assets 80,000 60,000
P &1L Alc 12,000 15,000 [ Stock 48,000 42,000
General reserve 50,000 52,000 | Investments 10,000 12,000
Creditors 35,800 25,800 | Debtors 42.000 91,000
Provision for tax 18,000 5,000 | Cash / Bank 35,800 42,800
Mortgage loan - 50,000

2,15,800 | 2,47,800 2,15,800 | 2,47,800
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Additional Information :

(1) Provision for tax made during the year 2016 was
Rs. 2,000.

(2) During the year 2016 part of fixed assets book value
Rs. 2,000 was sold for Rs. 2,400. The profit was
included in profit and loss Alc.

(3) Dividend paid during the year 2016 amounted to
Rs. 10,000.

(4) Investment costing Rs. 1,600 were sold during the year
2016 for Rs. 1,700.

From above mentioned information prepare cash flow
statement as per Accounting Std. No. 3. You are
required to show calculations as part of the answer.

OR
2 Write short notes : (any Two) 20

(1) Human Resource Accounting meaning and importance.
(2) Audit of social responsibility accounting.

(3) Social cost benefit analysis - concept.

3 (A) "Shri Jaybhai" manager of SBI Bank has two options 10
which has to select in confused. Kindly advice him
to select the appropriate option using decision tree
(customer not paying 8% loan)
Option - 1 : Company has to sanction the loan of Rs.
20,000 on 10% yearly interest rate.
Option - 2 : Company has 9% of fixed yearly interest
on to invest mortgage of Rs. 20,000.
(B) Draw the Network figure from below describe data : 5

Activity | Immediately Preceding Activity
A _
B _
C A
D B
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3  From the following details using 80% learning curve 15
model and 90% learning curve model, calculate average
estimated cost per unit of machine I (one) and 8 (Eight)

(1) For first machine production, the required labour hours
are 400.

(2) Per machine material cost Rs. 2,100.

(3) Direct labour cost Rs. 7 per hour.

(4) Variable cost Rs. 5 per hour.

4  What is social cost benefit Analysis ? Explain the process 15
of social cost benefit analysis.

OR
4  Write short notes : (Any Two) 15
(1) Difference between charts for variable and chart for
attribute.
(2) P - Chart.

(3) Decision tree analysis.
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